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W7 [FHN| B | BRE | Fd | B (EBZ2E] iI% | bR | BR 3
1528 =5%F 10 10 10 9 10 10 59
2|85 Bx 9 9 9 7 6 5 7 52
3|FH T 9 10 7 4 9 8 47
48K BH T 6 4 3 5 8 9 35
5|%E FH 8 6 9 4 27
5|fEIR E£= 8 10 9 27
5|HiA #F 5 3 7 6 6 27
8|tk ME 7 9 9 25
9|/l HE 3 4 5 6 5 23
10[/\& FTEX 9 4 2 5 20
11[E2%F #F 9 2 7 18
1188 YA 8 10 18
13[1 EF 2 5 8 15
14| L BWEF 2 1 6 3 12
14|FHE K3HE 5 5 2 12
16|{RikE thET 4 6 10
16|FE F=x 7 3 10
18[lug AE 7 1 8
19(BTER  ERtk 6 6
N EEEES 5 5
21[/hMNR BF 1 3 4
21|l BE 4 4
23|REA EffF 3 3
23|85 K B5F 3 3
25|FH HF 2 2
25|58 XHE 2 2
25|18 K HFE 2 2
25|88 ALF 2 2
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